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No. | *222 | wimrs AEA mEAR | oS # -
5[l Fir[a]
1 1-7 BET  [WIIETKER() 108308 0.18
2 1-8 '/EM  [WIIETKE(2) 10A30R 0.20
3 2-6 BET  [WIIETKIR(3) 108308 0.20
4 2-7 '/EM  [WIIETKE4) 10A30R 0.18
5 3-6 w'ET  [WIIETKIR(5) 108308 0.37
6 4-6 '/E™M  [WIIETKE(6) 104308 0.20
7 5-6 BET  |[WIIETKIR(7) 108308 0.26
8 5-7 w/E™M  [WIIETKE(8) 10A30R 0.18
9 5-8 BET  |[WIIETKIR(9) 108308 0.21
10 | 5-13 w|EM  |[RIIETKE(0) 10A30R 0.25
11 6-8 mET  |[WIIETKE(T) 108308 0.21
12 | 6-13 w/EM  |[RIIETKE(2) 10A30R 0.24
13 6-14 'ET  |[WIETKE(13) 108308 0.25
14 | 6-15 w/EM  |[RIIETKE(14) 10A30R 0.19
15 6-16 w/ET  |[MWIETKIE(15) 108308 0.24
16 7-7 w|EM  |[RIIETKE(16) 10A30R 0.19
17 7-8 wmET  |[WIIETKE(7) 108308 0.20
18 7-9 w|EM  |[RIIETKE(8) 10A30R 0.19
19 7-14 w/ET  (WIETKE(19) 108308 0.29
20 8-1 w|E™M  |RIIETKE(20) 11H2A8 0.21
21 8-6 mET  |[WIIETKER(21) 11828 0.25
22 8-7 B/EM  |[RIIETKE(22) 11H2A8 0.24
23 8-8 BET  |[WIIETKER(23) 11828 0.18
24 9-2 B/EM  |RIIETKE(24) 11H2A8 0.19
25 9-3 BE™  |[WIIETKER(25) 11828 0.20
26 9-4 w|EM  |RIIETKE(26) 11H2A8 0.23
27 9-5 wmET  |[WIIETKER(27) 11828 0.18
28 9-6 w|EM  |RIIETKE(28) 11H2A8 0.18
29 9-9 BET  |[WIIETKER(29) 11828 0.23
30 | 9-10 B|E™M  |HRIETKE(30) 11H2A8 0.23
31 | 10-10 wET  (MWIETKE(BE1) 11828 0.23
32 | 10-11 B|EM  |RIIETKE(32) 11H2A8 0.28
33 | 11-11 '/EM  [MWIETKIE(33) 11828 0.24
34 | 11-12 B/E™M  |RIIETKE(34) 11H2A8 0.25
35 | 12-12 w/EM  |[MWIETKIRE(35) 11828 0.26
36 | 12-13 B|E™M  |RIIETKE(36) 11H2A8 0.28
37 | 12-14 '/ET  |[WIETKIRE(3E7) 11828 0.26
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No. | *|  wlrst A A mEAR | oS # £
5[l Fir[a]
38 13-7 N -1Q D) 11828 0.21
39 | 13-15 BEM  |[R)IETKE(38) 108308 0.29
40 | 13-16 BE™  |MWIETKE(39) 10A30H 0.18
41 14-7 —ARMW |EE(2) 11828 0.22
42 14-8 —FRmm  [FEQ) 11428 0.25
43 15-7 AW |[EE4) 11828 0.25
44 15-8 —AXm |[F8(5) 11428 0.22
45 15-9 . N == 1 () 11828 0.25
46 | 15-10 —FRmm  ([FEG) 11428 0.26
47 16-7 .= 1€-)) 11828 0.25

X TETIELEIE. FR26F10A2BM"511A20BIZEEL-IEERBRERSFRE=2)2V - Ay 2 A& GHEAE) 1ICBITHRCAY 2

NTORERER.

2/2R=Y




